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(Ao, @l ) Arab Republic of Egypt JS/ET ) (1Y)
Ministry of Education
General Secondary Education Certificate Examination — First Session 2022
IThird Year Secondary]
Algebra and solid geometry Time: 2 Hours
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Calculator is allowed

First : answer the following questions :

Choose the correct answer from those given

(1) Number of ways to form a three different digit number from the set of digits

{2,3,4,5} equals ......... ways

...................................................................................................................................

(2)if z=1+1i ,where i?* = —1, then the principle amplitude for the number z?
equals ............
T —TT T
— — = s
@ - ® + © 5 @

...................................................................................................................................
...................................................................................................................................

...................................................................................................................................
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0 0 3
(3) Ifthe value of the determinant {0 &k 2|equals 12, then: k =...........
4 5 3

(4) If the point (3 + m, 1 — 2m, 4m) is at a distance 4 positive units from

the plane xy ,thenm = .......

...................................................................................................................................
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-3 2 1 .
(5) If the two straight lines Ly : =~ = > ;’ = Z; and Ly: 7 =(3,~1 2)+k(1, 2 3)

(6) If 7 isa complex number where z = sin60" +i cos60 ,

then the principle amplitude for the number z equals ............
T ~1TT T —TC
© 3 ® 5 @ 5 @ 7

...................................................................................................................................
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(7) If z; , z, are two complex conjugate numbers , then z; X z, could be equals

--------------

(8) If w is one of the cubic roots of the unity ,where i* = —1, then the value of

W [
the determinant S eieeann
—1 w

...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
....................................................................................................................................

...................................................................................................................................
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(9) If the point A(3, 2,1) and the point B(5, 2,3), then the coordinates of

the mid-point of 4B is ...........
@ (_-41 _2: _2) @ (_"4‘, 0, _1)
© (4,0,1) @ (4,2,2)
(10)Tf ™ 1p, =720, then 2N = .
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(1) Ifz =3V 3+ 3i,then|z| =.......

(12) If equation of a sphere in the spaceis: (x —1)2+ (y —3)2+ (z+2)* =9
q P

, then the coordinates of its center are ................ and

the length of its radius =................... unit of length
@) (-1,-3,2),3 ® (1,3,-2),3
© (-1,-3,2),9 @ (1,3,-2),81

...................................................................................................................................
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(13) Sum of the intercepted parts from the coordinate axes x, y and z by the

plane: 12x + 16y + 24z = 48 equals .........

(@) 10 () 11 © 12 (d 9

(M)HAz(

_q JSC) is a singular matrix, then the valueof x + 1=...........

@ 4 ® 5  © 4 @ -5
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(15) If A ,B are two vectors such that: A =(-1,—k ,2)and B = (1,3,6) , where

e € ZT and ||ﬁ|| = 6, then the value of k=.............

@ 1 ) 2 © 3 @ 6

(0,2, 0015 +orrveeeere
@ X_Y, Z_ b XY A
;515 =1 —St3t371

© *r, Y _Z_ @ X _ Y., Z_
3t3 571 > st3=1

...................................................................................................................................
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(17) If the coefficients of the fourth and twelfth terms in the expansion (x +y)™

are equal, then the value of mequals .........

@ zZero (b) 1 © 2 G) 3

...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................

...................................................................................................................................
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(19) Equation of the plane which is parallel to the plane XZ and passes through the

point (1,-3,2)is .....ooennnnn.

...................................................................................................................................
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Second: Answer the following questions: -

8
( 21) Find the value of the term free of x in the expansion: (x + %)

...................................................................................................................................

...................................................................................................................................
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(22) Without expanding the determinant, Prove that:

1 2 3
4 5 6/=0
7 8 9

...................................................................................................................................
...................................................................................................................................

...................................................................................................................................
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(23) Find the volume of the parallelepiped in which three adjacent edges

are represented by the vectors A4 = (1,02) ,B =(1,1-1) ,C = (1,2,1)

...................................................................................................................................
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(24) Find different forms of equation of the straight line which passes through the

point (3,-2,1) and the vector (1,2,3) is a direction vector of it.

...................................................................................................................................
...................................................................................................................................
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